2022411 R128

EE

R 2m—6#f

1R 2%—6#
Y5ITLy FR 2% T2

1300m #—*hk -4
2 #£8
SAL BF 1:25.1

-

1:25.4

He 55,
BRERFGRK
L—R5 v JHfA

: 534 22
MSS 11

17.6. 9.9, 6.6, 4. 45H

455 8 544 7 255 3
MMM 10 MMS 7 SSM_6

4551

MR | PREK | EETES T i 35 E AR B) Bt HTE=L—R%& L—T14v¥ 95X 3MTE=%EIE BEHK-EEF- A K
B F | MBIMM LB £r o187 B S 1300m 2, 3, AABEBIEE S5{TE=IEA- 10— - BiFRE 244 EAYBF
B 26 | B 2 |EnEE/FE|m  4EuT | 0900 =L— #3F (HELY, WFH, S)EL\) Wit 3 Fol RBIRE A9-h~d4f - SA~4F - #IF(5~1) LY 3 FIRAM
HEEARGERES WH | £ 5 | S1308H (fm & | BRy n| L—RALYSFAL - HBEOLYSFEAL > 05 OBAKT HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE Ay X | BERM | 101288 | & BEFR| & 2 1s00m B HRE 358 43R 53R
ERVEPE= #2110 A [EF0003I[F=0003[2210.289 F fEE [2210.09 1T F &EE [2209.04 12 F && PRI
I avER: HER JA0.0.00 | AF0.0.00 | KYUSH % | EBERER 2% | 2m—5#4 2% 5
~13 < 51.0 .083 A50004 | FM0000 |9 1138 2HI0A A |7 1088 9% 9A A4 8FE 4& 6A
T[] a|74ZF+T+50— B | mgx 5B 1287@ | £40.0.0.0 | F£0.0.0.0 | 397 +2 &K 51 @®@® | 395 0 HFfmK 51 ©B® | 395 -3 KEE 54 ©DD E 4 @D
(hri=—) HE 21| R 1287@ | A 0.0.0.1 | F/00.0.0.0 | 1300m & B 1:28.7 43.2 | 1300m sf E 1:28.8 43.2|1300m & # 1:30.4 43.6 | 1000m % ¥ 1:06.4 41.1
RS [%]] 0004 [ %0002 |£40004]| -@ -@---|HIS 38.2-41.8 412 (9) | MMS 38.7-40.6 321 (9) | HSS 38.8-41.0 231 (8) | MSS 38.7 231 (9)
RAEF 0.0.0.2 | $0%£0:£080 | £% 0.0.0.0 | 158 0000 [ Th-{332(2.2) SxE | -P -G 1) Sk | 77523.9) it MEAyRAE.8) kEE
F—toSa—&o 213 O: ::: |EZF0003 |F=00023 [2210.28 13 ¥ k& |[2210.00 15 F 1k& |22.09.21 13 & 1k& |22.08.11 14 & Mal |2207.19 13 & M3l
+—Ja—krTFLR ER# J&0000 | AEH0000 | KYUSH 2% | EEHRE 2% | 2m—5#4 2% | 2 X 2% | 2@ X 2%
54.0 .170 A400.08 | Fr0.00.0 |6 1138 9% 9A 4+ |4 1088 2% 8K W |8  93E 5F A 9 1088 6% 9A 988 1% 8A B
A 2|0 |oEvsyvayh RE | PHE {£% 1279@ | £40.0.0.0 | F£0.0.0.0 | 431 -1 EA# 54 OO | 432 +2 EA#E 54 ©OQ® | 430 0 EM#E 54 BGDO | 430 +4 #2F 54 010 | 426 -2 3k 54  B®
(v/m7oq) E . 168| 4£F 1279@ | E40.0.0.3 | F/00.0.0.0 | 1300m 4 B 1:28.0 40.8 | 1300m & F 1:27.9 40.8 | 1300m & & 1:30.2 42.9 | 1000m 4 T 1:04.4 38.5| 1000m 4 # 1:05.4 40.6
5 [£]] 0008 [£0002 240008 | -©--@-®-|HIS 38.2-41.8 145 (2) | MMS 38.7-40.6 244 (2) | MMS 39.7-41.6 222 (6) | MSS 38.0 223 (7) | HMM 37.2 311 (8)
ZEEE 0.0.0.3 | #05£020i80 | £ 0.0.0.0 | $158 000 1 | Tht-{432(1.5) SKxE | - H)-(2.2) Sk | 4r/14192.4) KxE [ A-FR-2.7) %38 | N 92031 (4. 6) HEE
FIULSIUR 2|8 B .. |EF0004|F=00071 227102810 ¥ %&E [2200.16 13 & &K |2206.17 6 F &K |2206.0411 * &
FXH Y HKE JA0.0.0.0 | AF0.0.02 | 28— 64 2% | OFEDYHE 2% | 2m— 348 2% | 2 B ( 55
54.0 .166 A40004 [ FmM000.1 |9 123 IHIA BA|6 658 4% 6A 10 1038 6% 9A 10 1058 3% 9A
3 (] TL—92%— BE | AR 5B 13450 | %24 0.0.0.0 | F£0.0.0.0 | 373 +11 MO 53 @@ | 362 +1 HkiE 54 GO | 361 0 MEA 52 @GO | 361 Hikik 54
(R RS54 Y RF—) B 101 {£R 134500 | T4 0.0.0.1 | F/00.0.0.0 | 900m & B 0:58.4 38.8 | 1400m &% F 1:43.1 44.5|1300m & B 1:34.5 47.1| 900m % B 1:02.4 44.0
e [#]] 0004 [Z0001 |£40004]| @ - Nss 37.2 142 (7) | MSS 39.9-42.0 331 (5) [ MSS 39.8-43.1 311 (10) [ MSS 38.9 411 (10)
HEES 0.0.0.2 | #05£0%£0i80 | £ 0.0.0.0 | @158 000 1 [ #y3wh(3.3) kS | 45477 547(7.6) k% Y AATAAE A(4.8) E5ek | LA H(5.6) pu¥irhi
Rya—FL<T H2 [ 14 ©: ::: |EZO0010 F=0010 [2210.28 15 ¥ {&& |22.09.03 23 ¥ 4NAT |22.08.20 28 & 4h@A3
NITAEYR wWA® JA0.0.01 [ AEH0000 | KYUSH 2% F wE
55.0 .358 E40.0.1.1 | FrE0.0.0.0 | 3 1158 6& 2A 11 18 5&11A 12 158E13F 14N 4+
L 4o |7ox1s RE | mEWH B 1265@) | £470.0.0.0 | F£0.0.0.0 | 469 +17 IUAE 55 @@D® | 452 -8 JuRA 53 @M@ | 460 #) NRK 52 BOD
(FS%+4%) #E . 257| 5B 1265 | F40.0.0.0 | F/00.0.0.0 | 1300m 4 B 1:26.5 40.0 | 1800m B #§1:53.4 39.0 | 1700m & # 1:53.1 42.2
KHI77-4 [£]] 001.2 [£001.0 240011 | @ ----- HMS 38.2-41.8 255 (1) | MMS 36.8-36.2 151 (10) | MMH 30.6-35.8 111 (13)
(B H. 13-4 b-yay 0.0.1.0 [ 02050580 | £% 0.0.0.1 | @158 000 1 [ Thi—{$32(0.0) SesE | A (6.1 EEE | 4IZU92(8.8) Hxx
A ZSHR=—% 2] 9 _ TR _{i;o.o,o.l ;FLEO 0.0.1 2& 105831&| E3 1&; 23&6:0 15 & ;;@
S8 = w N ::] J#&0.0.00 BH00.00 =
FNAF T vy 54.0 . 137 H¥0002 |Fm0000 |7 113 1% 6A BA|7T 8 5% 4A
5(5(at] svovFroun E | AR B 12820 | £40.000 | F£0.00.0 | 437 +29 IMAX 54 ®O® | 408 MR 54 ©6)
(Reset) h® .168| £R 12829 | B4 0.0.0.1 | F/L0.0.0.0 | 1300m & B 1:28.2 41.7 | 1100m & 7 1:09.6 39.4
REKIH [%]] 0002 [Z0001 |£40002]| @ ----- HMS 38.2-41.8 244 (6) | MMH 37.8 412 ()
(%) &35 0.0.0.0 | 04030380 | £ 0.0.0.0 | w13 0000 | Tht-{432(1.7) H£HEE | 1497 (2.3) #
4 Lk— #2[5 s [EF0003[F=0000[2210.284 F & [2210004 F {£E [220612 11 # &
HL—zREK— HhILSE JA&0.0.0.0 | AE0.003 | 25— 648 288 2m%— 64 m | 2EBFE ( 5
/I 51.0 .139 A50003 | Fm@0.00.0 |12 128 3HI2A 8 1088 3% 9A 7 T8 6& 1A
6 I3 FL—Z5V R E | Fu8 EH0.0.0.0 | F£0.0.00 | 361 +2 FHX 51 Q@359 -1 Hifgk 51 @D | 360 HchiE 54 @D
(k=—E) h® 226 EH0.00.2 | F/00.0.00 | 900m & B 0:50.9 40.7 | 900m 4 & 1:00.3 39.4 | 900m & T 1:02.1 41.5
ArLgess [#]] 0003 [%£0002 240003 ]| @ -®---[MS 37.2 231 (12) | S8 37.1 231 (8) | MSS 38.3 231 (D)
FriLgEss 0.0.0.0 | #040:£0i80 | £ 0.0.0.0 0 $UReh (4. 8) B |V aunh IV @A.8)  sksesk | #4540 (5.9) Sk
O—FAFA7 H2 S - 72;0.0.0.0 0. %2%7.31 28 & 23ne?
.~ > > =] J#&0.0.00 0. i
BALTYREEAE |50 00 HX0000 0. 13" 1458 9B1IA
107 IPZOP24 RE | w0 E50.0.00 0. 498 ¥) FIME 54 OO
(FLYFFE2LT4) HH 216 EH0.0.0.0 0 1400m A B 1:27.4 37.0
K5 [#]] 0.0.0.1 £40.0.0. MMM 35.3-35.1 121 (12)
(k) MMC 0.0.0.0 | #0503£0i80 | £ 0.0.0. IVABNE T 4-(4.9) Sk
F—tra—%y 42 . A {tgo,o,o. zz.g.1731é$ V{g 22.%5.%2_[9%13( * f%&;é
~, 0 w S i J 4 0.0.0. — 34 2
L=2RRAALY Y |50 s 5000 7 103 2% 1A 7778 6% 3A
1(8] a2l 74— v—2 B | L3E B 1318@ | &4 0.0.0. 486 +1 JIIEH¥E 55 .@o 485 )1 B3 55 (Vo)
(YoRYHYRTR) B 173| R 13180 | X 0.0.0. 1300m & B 1:31.8 43.6 | 900m % B 1:00.7 41.0
A ES [#]] 0.0.0.2 £40.0.0 MSS 39.8-43.1 253 (7) | SSS 38.1 231 (1)
AFEREA 0.0.0.2 | $%05£03£0580 | £ 0.0.0.0 VARTAAE R(2.1)  FEHEM | T4-T4-T (@A) k%
W—5—v 7 H2 - A ‘{Ego.ovo.z 222%).2361&$ 1&;; 222.10.0967ﬂ$ V;Zg
S aINE J#&0.0.00 — 6 — 6l
NITANAY 55.0 328 AH0002 10 1288 5&10A 9 10EEI0E 4A  AS
8(9 F—Fako—4 2| RED %£40.0.0.0 469 +4 R)IIME 55 @@ | 465 LO¥ 55 0]
(Candy Ride) hE 257 EH0.0.0.1 900m 4 B 0:58.8 38.6 | 900m &' FE 1:01.3 39.4
k| [£]] 0002 [£0002 |250002 Nss 37.2 132 (6) | SSS 3.1 231 (8)
#OH. [2-% V-yay 0.0.0.1 | $05:03£0580 | £ 0.0.0.0 $Irh (3. 7) S | aunh Iv(5.8)  sksesk
FE—Xa3—F— #2 Wx B {tgo,o,o.z 22 10. 286%4: 1&%& 22.10.09 12 {igg
- RV IS JA0.0.0.0 2 m%— 61
FIEYTY I |5l 0002 &P iom oA o |6 Tom 68 oA
810 NYLITHLY neHF %£40.0.0.0 406 -4 £ILF 54  ©D| 410 /MY 54 @@
(FA4—=TL289 k) #H® 190 FH0.0.0.1 . 900m 4 B 0:57.2 37.4| 900m % E 0:58.1 38.6
P e [%]1] 0.0.0.2 0.0.0.2 | £40002|-®--®---|MSS 3.2 243 (2) | sSs 37.1 432 (6)
AREXF 0.0.0.1 | $0%£0:£0i80 | £% 0.0.0.0 | @158 0000 [ #y3n¥h(2.1) IS | Vb hu(2.6)  kEk
548 5 — 1 1300miE 4t 55 R <$ +Eﬁr’ﬁ 2020. 11. 10~2022. 11.09) ERTE BER 3 HE MR
;302 EHES HERH 178 & BE i % (%& 1 2 3 45 6 7 8
1 F—toTa—4Y 185 19 10 22 134 0.103 0.157 F (3#ME) 27 30 30 32 31 29 32 34
2 TSrREY A 68 16 7 5 40 0.235 0.3 0 ____
3 koI —L K 136 15 18 16 87 0.110 0.243 7
4 L—3—2vF 131 “ 12 12 93 0.107 0.198 P ®
5 40O 85 14 8 12 51 0.165 0.25% O T ___
6 FA1=Yr—2 79 14 5 8 52 0.177 0.241 q, ®
7 F—E7Ya— 2 14 2 6 20 0.333 0.381 = ®
8 EVFOYY 178 13 2 16 124 0.073 0.213
9 AL aR—5— 175 13 17 18 127 0.074 0.171 ®
10 A Lk—, 95 13 7 7 68 0.137 0.211 * 23@@®D®®
. BLEHTH. YUADRKEHL, HERH, BFEEGLE, TR TERERTOHEREBALTTS,
20224E11A128 58 IR 2%—6# 5 JL v FR 2% T& 1300m #—*hk- -4 AN DOER, ERELLET.




